
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 

Friday , 1113 - /

Recall : to complete STEP 3
,
we want to

show :

↑
,
(x)
=S,
aX2

for X, 1 ,

Lemma D(= Apostol, Lemma 3, Ch. 13).

For ke1+, vi0, and O,

,
cix

u

-5

dsS(ii cics(s+1 ... (s+k)
= ElvkO,

the integral being absolutely convergent .

Proof.
Absolute convergence is because, for k, r, C

as stated, and for s = c+ it with c, te IR,

As n

= C 352
s(s+1)0 . (s + k) s(s+ 11 (chty((c+1)3t4)

-1
ch + +
2

and our path of integration is Ec+it : tea
,
cl3.

Now :

(A) Suppose OLus 1 . For any R>maxE2k,23,
letCIR) and DIR) be the following contours
in K :



 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 



 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 



 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 



 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 

⑤
and STEP 3 is done !!


